
 

5𝑥 + 11 = 19𝑥 − 17 ⇔ 

−14𝑥 = −28 ⇔ 

14𝑥 = 28 ⇔ 

𝑥 =
28

14
= 2

 

𝑇2 − 𝐾2 + (𝑇 + 𝐾)2 − 2𝐾𝑇 

= 𝑇2 − 𝐾2 + 𝑇2 + 𝐾2 + 2𝐾𝑇 − 2𝐾𝑇 

= 2𝑇2

 |𝐴𝐵|

|𝐴𝐵| = √62 + 82 = √102 = 10

𝑘 =
|𝐺𝐻|

|𝐵𝐶|
=

18

6
= 3

|𝐹𝐻| = 𝑘 · |𝐴𝐶| = 3 · 8 = 24

 

𝑑 = 𝑏2 − 4𝑎𝑐 = (−7)2 − 4 · 1 · 10 = 49 − 40 = 9, 𝑑 > 0

𝑑 > 0

 

𝑎 > 1

0 < 𝑎 < 1 𝑓(𝑥) 𝑔(𝑥)

𝐴 𝑓(𝑥) 𝐵 𝑔(𝑥)



 [𝑎; 𝑏] = [0; 5] 12.5

𝐴𝐵𝐶 𝑔(𝑥) 𝑓(𝑥)

𝑇𝐴𝐵𝐶 = ∫ 𝑓(𝑥)
5

0

𝑑𝑥 − ∫ 𝑔(𝑥)
5

0

𝑑𝑥 

          = 12.5 − 7.5 

          = 5

 𝐴

∠𝐴 = arccos (
222 + 132 − 112

2 · 22 · 13
) = 21.554𝑜

 𝐴𝐵𝐶

𝑇𝐴𝐵𝐶 =
1

2
· 13 · 22 · sin(21.554) = 52.535

 

sin(21.554)

|𝐵𝐷|
=

sin(120)

13
⇔ 

sin(21.554) · 13 = |𝐵𝐷| · sin(120) ⇔ 

|𝐵𝐷| =
sin(21.554) · 13

sin(120)
= 5.515

|𝐵𝐷|

𝑦 𝑓(𝑥)

 𝑥 = 10

𝑓(10) = 273 · 10 + 8245 = 10975

10975

 8245

8245 273



 Årstal = 𝑥 = 2006 = 0

𝑅2 = 0.9875447

𝑓(𝑥) = 2154.737 · 1.35214𝑥

𝑓(𝑥)

𝑥

 𝑥 = 6

𝑓(6) = 2154.737 · 1.352146 = 13168.134 ≈ 13168

 

𝑇2 =
ln(2)

ln(1.35214)
= 2.297 ≈ 2.3

 

23,25,25,26,26,26,26,27,27,27,27,28,29,29,29,30,30,31,31,31,32,32,32,33,34,34,35,35,36,39

Nedre = 27 

Median =
29 + 30

2
= 29.5 

Øvre = 32

𝑄1 = {23; 27; 29.5; 32; 39}

 𝐵 𝑄2 = {22; 25; 26; 29; 30}

0 5 10 15 20 25 30 35 40 45



 

∫ (4√𝑥 +
1

𝑥
+ 3𝑥)

2

1
2

𝑑𝑥 = [
8

3
𝑥

3
2 + ln(𝑥) +

3𝑥

ln(3)
]

1
2

2

 

=
8

3
· 2

3
2 + ln(2) +

32

ln(3)
− (

8

3
· (

1

2
)

3
2

+ ln (
1

2
) +

3
1
2

ln(3)
) 

= 14.6015

 𝑓(𝑥)



 

𝑓′(𝑥) =
18

𝑥
− 2𝑥, 𝑥 > 0

𝑓(1) 𝑓′(1)

𝑓(1) = 18 ln(1) − 12 = −1 

𝑓′(1) =
18

1
− 2 · 1 = 16

𝑃(1; −1)

𝑦 = 16 · (𝑥 − 1) − 1 

    = 16𝑥 − 17

 𝑓′(𝑥) = 0

18

𝑥
− 2𝑥 = 0 ⇔

18

𝑥
= 2𝑥 ⇔ 18 = 2𝑥2 ⇔ 9 = 𝑥2 ⇔ 𝑥 = 3

1 6

𝑓′(1) = 16 

𝑓′(6) =
18

6
− 2 · 6 = −9

𝑥 0 3

𝑓′(𝑥) + 0 −

𝑓(𝑥) ↗ → ↘

𝑖𝑑

𝑓(𝑥) ] − ∞; 3] [3; ∞[.



 𝑓(2) = 3 · 2 − 7 = −1 𝑓(𝑥) = 17

3𝑥 − 7 = 17 ⇔ 

3𝑥 = 24 ⇔ 

𝑥 =
24

3
= 8

 𝑎 𝑏

𝑎 = √
𝑦2

𝑦1

𝑥2−𝑥1

= √
64

8

3−0

= √8
3

= 2

𝑏

𝑏 =
𝑦1

𝑎𝑥1
=

8

20
= 8

 |𝐴𝐷| 𝐾 |𝐶𝐾| 𝐾

|𝐷𝐾| = |𝐷𝐴| − 6 = 3 |𝐶𝐾| = 4

|𝐶𝐷|

|𝐶𝐷| = √32 + 42 = √52 = 5

 

𝑥2 − 3𝑥 + 2 = 0 ⇔ (𝑥 − 1)(𝑥 − 2) = 0

𝑥 = 1 ∨ 𝑥 = 2

 

𝑓′(𝑥) = 3e𝑥 + 35𝑥6

                                                           

−3 2 −1 −2 −1 − 2 = −3 −1 · (−2) =

1 · 2 = 2



 

10 100

100 110



 

 65𝑝 45%

45% 65𝑝 55%

65𝑝

 

𝑓(𝑥) = 74418,47 · 𝑥−0,6231993

𝑎 𝑏

𝑎 = −0.6232, 𝑏 = 74418.47



 𝑓(𝑥) = 1700

74418.47 · 𝑥−0.6231993 = 1700

⇕
𝑥 = 430.0892

430mm

1700kWh/år

 

𝑓(𝑥) = 850𝑥 + 16259

𝑓(𝑥)

𝑥

 

𝑓(4) = 850 · 4 + 16259 = 19659

19659

 𝑓(𝑥) = 25000

850𝑥 + 16259 = 25000

⇕
𝑥 = 10.28353

25000

 𝐶

∠𝐶 = arccos (
|𝐹𝐶|

|𝐸𝐶|
) = arccos (

12

34
) = 69.332𝑜

 

𝑘 =
|𝐸𝐶|

|𝐷𝐺|
=

34

26
=

17

13
≈ 1.308

|𝐹𝐺| =
12

𝑘
=

12
17

13

=
156

17
= 9.176

|𝐸𝐹|

|𝐸𝐹| = √342 − 122 = 31.812

|𝐸𝐺| = 31.812 − 9.176 = 22.636



 𝑓(𝑥) = 0

𝑥4 + 2𝑥3 − 11𝑥2 − 12𝑥 + 36 = 0

⇕
𝑥 = −3    ∨     𝑥 = 2

 𝑓′(𝑥) = 4𝑥3 + 6𝑥2 − 22𝑥 − 12

𝑓(1) = 14 + 2 · 13 − 11 · 12 − 12 · 1 + 36 = 16 

𝑓′(1) = 4 · 13 + 6 · 12 − 22 · 1 − 12 = −24

𝑡 = −24(𝑥 − 1) + 16 

   = −24𝑥 + 40

 

4𝑥3 + 6𝑥2 − 22𝑥 − 12 = 0

⇕
𝑥 = −3    ∨     𝑥 = −0.5    ∨     𝑥 = 2

𝑓′′(𝑥) = 12𝑥2 + 12𝑥 − 22

𝑓′′(−3) = 12 · (−3)2 + 12 · (−3) − 22 = 50 

𝑓′′(−0.5) = 12 · (−0.5)2 + 12 · (−0.5) − 22 = −25 

𝑓′′(2) = 12 · 22 + 12 · 2 − 22 = 50

𝑓′′(𝑥) < 0 𝑓(𝑥) 𝑓′′(𝑥) > 0

𝑓(𝑥)

𝑓(𝑥) 𝑥 = −0.5 𝑥 = −3 𝑥 = 2

 𝑓(𝑥) ] − ∞; −3] ∪ [−0.5; 2]

 𝑓(𝑥) [−3; −0.5] ∪ [2; ∞[



 𝑓(0) 45

𝑓(𝑥) = 0

−
1

20
𝑥2 + 45 = 0 ⇔

1

20
𝑥2 = 45 ⇔ 𝑥2 = 900 ⇔ 𝑥 = ±30

|−30| + 30 = 30 + 30 = 60

 

𝑇 = ∫ (−
1

20
𝑥2 + 45)

30

−30

𝑑𝑥 = [−
1

60
𝑥3 + 45𝑥]

−30

30

 

= −
1

60
· 303 + 45 · 30 − (−

1

60
· (−30)3 + 45 · (−30)) 

= 1800

1800𝑚2


